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Name: Date:

Paper 1: arithmetic questions

15 + 1l =

L5+ 5 =




PrimaryTools.co.uk

55—W=\ \




~|w

of 20

PrimaryTools.co.uk



PrimaryTools.co.uk

Paper 2: contextualised and applied questions

° Cird&% of the apples below.
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Look at these signs.
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Write the correct sign in each box.
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36 36
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n Look at the thermometer.
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What temperature is shown?

°C

B How many vertices does a square-based pyramid have?

v

vertices ‘
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This tile is rotated elockwize through a three-quarter turn.

What will the tile look like after it has been turned?

Tick one.
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Tick (v) the number sentences that are correct.

2+6 6+ 2

5x6 = 6x5

6-2 = 2-6

Apples cost 10p each. Pears cost 25p each.

i’

Amy buys | apple and 2 pears.

How much change does she get from £17

your
working
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m Draw lines to match the correct times to the clocks.

One has been done for you.

Nine o’clock

Five past eight

Twenty to one

Quarter to six




PrimaryTools.co.uk

This graph shows which fruit children like best.
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Number of & -
children

Apples  Oranges Pears Bananas  Grapes
Fruit

How many children like bananas best?

How many mere children choose
grapes than pears?






